
LCD / PLASMA TV MOBILE-MOUNT (FC-A390)

 

■ Supports up to 100kg

■ Comes with wheels and 1 height-adjustable MDF shelf

■ Easy to install and relocate anywhere

■ Cable management

CONFIGURATION

MAXIMUM LOAD WEIGHT 100 KG

TV SIDE-TO-SIDE ROTATION On wheels: 360o 

PHYSICAL

DISTANCE FROM FLOOR TO TOP OF POLE 1600mm

WIDTH AT BASE 1200mm

STANDARDS

CLASSIFICATION Meets VESA standards (X:400-800mm, Y: 200, 300, 400, 500)

SOLE AGENT:

Address: 1 Rochor Canal Road, #02-67/69/34/35/36/37, 
Sim Lim Square, Singapore 188504 Tel: 6336-0404  Fax: 6338-0404  
Email: jiaying@singnet.com.sg Website: http://www.jiaying.com



Specification

Mobile Mounts

A390B01 I-A390B01-01

Specification

Unit:mm

P a r t s  L i s t

4 2 44 4 1

18 19 20 21 23 24

4

ITEM

PARTS

QTY

ITEM

PARTS

QTY 1

1 2

M6X15

11

MAIN PARTS

22

3 4 5

12 4

6

2

7 8

2 2

M6X15

2 1 2

9 10 11

M6X8

6 2 2 4

12 1311 14 15 16 17+

2

M4X12

M8X15 M6X15 M5X15 M6X12

1.Loading Capacity: 100 kgs

2.Meet VESA  : X : 400~800 ; Y: 200,300,400,500

   ※ Please consider Panel weight and manpower for doing the assembling in 
         order to secure the safety of products and personals.

Product Features :

1000

(1200)

1000

6
4

0

(1
6

0
0

)

VESA djustment

Y

X

M6X10 M8X10

4

25

Left base Right base

26

1

設           變           履           歷
項次 日期 設變內容

1

設變理由設變者



Mobile Mounts

Installation

A390B01 I-A390B01-01

   I: 
        
       

6

腳座組

1

3

4

2

5

1.Connect part     , part     and part     per below illustration, then fasten it with 
    part     (screws).

1 2 3

4

52.Insert the wheels (part     ) to the H-base.

  II: 
        
       

Plug part     into the H-base per illustration.6

設           變           履           歷
項次 日期 設變內容

1

設變理由設變者



Mobile Mounts

Installation

A390B01 I-A390B01-01

9

7

7 9

8

10

11
10

11

12

 III: 
        
       

91.Insert the part     into part     , then assemble it with the stand and screw with 
   part     . Please don't tighten it completely to ensure the part     can be moved 
   up-down.

2.Move down the part     with part     to the H-base.

8

7

7

7 8

 IV: 
        
       

1.Insert the part     into the part     each side, then connect it with the stand.11

2.Adjust the position of part     with part     to fit user's need then fasten it with
   part     (screws).

10

1110

12

move
down

move
down

設           變           履           歷
項次 日期 設變內容

1

設變理由設變者



Mobile Mounts

Installation

13

A390B01 I-A390B01-01

  V: 
        
       

Per illustration, insert part     to the top of poles and then ensure these covers are 
tightly plugged-in.

13

 VI: 
        
       

1.Per illustration, assemble the part     and part     on the H-base and under 
    part     (The distance of part     and part     is adjustable)10

2.Fasten part     on part     at the top and apply screws part     . 

14 15

14

15

10

14

16

15

16

3.Fasten part     on the H-base and apply screws part     .

14

15

10 16
16

14

15

設           變           履           歷
項次 日期 設變內容

1

設變理由設變者



Mobile Mounts

Installation

A390B01 I-A390B01-01

  VII: 
                

1.Connect part     with TV panel. When mounting TV, please be aware of the
    VESA value of the TV to choose correspondent screws and washers accordingly.
2.User can fasten it with the screws per TV VESA holes. 

17

17

TV

19

24

18

25

M6x15

M6x10

M8x15

M8x10

screw selected

21

20

21

20

21

VIII: 
        
       

1.Install the part     to the back side of TV mounting brackets .(over the square 
   tube of part     )10

2.Please check if the TV panel is at the center of the stand; then fasten it with 
    part     .

20

21

設           變           履           歷
項次 日期 設變內容

1

設變理由設變者



Mobile Mounts

Installation

A390B01 I-A390B01-01

7 8

22

23

7

   IX: 
                

1.Adjust the height of part     to fit user's need and tighten part     (screws) applied
    already on part     earlier. (as below).
2.Place the shelf part     on part     , then fasten it with part     screws underneath
    the shelf.

7

87

722 23

Adjust the height 
 per user’s need

設           變           履           歷
項次 日期 設變內容

1

設變理由設變者


	頁面 1
	頁面 2
	頁面 3
	頁面 4
	頁面 5
	頁面 6
	FCA390.pdf
	Supports up to 100kg
	Comes with wheels and 1 height-adjustable MDF shelf
	Easy to install and relocate anywhere
	Cable management


